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o U Tq F A fF G F 3T FT-0T § JET T 8 T 97 35 &1
Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.

o TR T T To JeT-UH YT e [
Candidates must write their Roll Number on the question paper.

o U g7 # FAT 37 § {4 TF GARGT FY T & J97-99 {7 T @& & GO B ITT 54
T F Bl o qar & T8 B AIm
Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
(i) &# g7 oA 8
All questions are compulsory.

(i) 597 #% 1 @ 35 T TGS F97 81 H9H 97 1 G & & [FErger g97 &
gav dfr

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer the questions as per instructions.
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3 : BT T 99% 797 (1-18) 7 @78 9IfF% ITGFT A% giag -

Direction : Select the most appropriate option from those given below each question
(1to 18):
1. 9 § W & g9Ee & 7 Wagd B W@ 3 W 3 91 0w a9 & AN 1
(A) T SN (B) H¢ SAM
(C) =& W (D) S & S

On introducing a dielectric material between two positive charges situated in
air, the repulsive force between them will be :

(A) increased (B) decreased
(C) the same (D) zero

2. A A IR 2 T 8 W T IR I w10 diee 31 @i & S dga A @l
e & ]
(A) 5 Fe/Fm (B) 500 &/
(C) 5000 =& /Al (D) 250 e /%A

Two plates are at 2 cm a part and potential difference between them is 10 volt.
The Intensity of electric field between the plates is :

(A) S5 Newton/Coulomb (B) 500 Newton/Coulomb
(C) 5000 Newton/Coulomb (D) 250 Newton/Coulomb
3. TEq a1 (I) T 0@ I (Vo) § 979 © 1

(A) I=neVy B) I=neAVy,

Va neA
C) I=—% D) Vg=—o
(©) oA (D) Vg 7
The relation between electric current (/) and drift velocity (Vg is :
(A) I=neVy B) I=neAVy4

Va neA
C) I=—% D) Vg=—o
(©) oA (D) Vg T
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4. THIT H 90° AT 180° W Higw & oy feome fbw Mo Bt & Sww fear v & 0 1

(A) FarEor (B) TOT AR T
(C) W (D) o
Prism designed to bend light by 90° or 180° make use of :
(A) dispersion (B) total internal reflection
(C) reflection (D) diffraction
5. 8l T A% B (A% n) & QA e T Dy BIT 8 1
n-1
(&) D =—— (B) Dm =(n-1)A
A
(C) Dp=—— (D) Dp=n-1
n-1

For small angle A prism (Refractive Index n), angle of Minimum deviation Dpn
is :

n-1
(A) Dy == (B) D, =(n-1)A
© D, =2 D) D, =n-1
n-1
6. I I {9 WA 10D T 5D B, T ¥ W T I €Y BHE-3 © - 1
(A) 5T (B) -5t
(C) 20 a4 (D) —20 a4

Two lens of power 10D and -5D are placed in contact. Focal length of the
combination will be :

(A) Scm B) -5Scm
(C) 20 cm (D) -20 cm

7. I % AR WA d, cwash A9 B g FH AERHE a Thal A @ e e W)
BhsT 1 areqias qrde 1
(A) oTEX & D (B) o &
(C) & ® (D) IR | Hig Tl

In Young's double slit experiment, the monochromatic source is replaced by
another monochromatic source of shorter wavelength, then actual separation
of the Fringes :

(A) remain constant (B) increases
(C) decreases (D) None of the above
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8.

10.

11.
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V aice 3 fawaiay g @R 5 sadee & defg st aiee © 1
1227 1.227

(A) N A (B) Nz A
12.27 122.7

© 5 A N

de-Broglie wavelength associated with an electron, accelerated through a
potential difference of V volt is :

1227 4 1.227 4
(A) N A (B) W A

12.27 4 122.7 4
©) A D) —=A
frg Ieh 7 SRR FRA-Rgd T B SS9l IRYET § w9 aget & o
fafpeer-sghrdl & kg wve & forg enfua fepar ? 1
(A) i (B) STEETE
(C) T (D) @M

Which scientist verified Einstein's photoelectric equation with great precision,
for a number of alkali metals over a wide range of radiation frequencies ?

(A) Millikan (B) Einstein

(C) Rutherford (D) Compton

TG |+l 6 R TRAT] FAi6 Z 999 8l &, F8ad ¢ 1
(A) qIIRS (B) @AYl

(C) THeA~S (D) S § q HE e

All nuclides with same Atomic number Z are called :

(A) Isobars (B) Isotones

(C) Isotopes (D) None of the above

BRGSO URA] P = Stawel # Ho ol ~13.6 eV ©l 3 A § Joidgd H T
STt Bl 1
(A) -13.6eV B) 13.6eV
(C) -27.2eV (D) 27.2eV
The ground state total energy of hydrogen atom is about -13.6 eV. Kinetic
energy of the electron in this state is :

(A) -13.6eV B) 13.6eV

(C) -27.2eV (D) 27.2eV
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12. {1 97F p-n ¥ T, &7 p-8F ¥ n-87 F oM fqaRka 2 §, it - 1
(A) n-8F 7 Yo SaEH S AN HA o
(B) ¥ Rvditk & FROT € & IR T H §
(C) p-85 ¥ S-qiEar, n-89 ¥ 399 gimar 9 o
(D) ST @+
In an unbiased p-n junction, holes diffuse from the p-region to n-region,
because :
(A) Free electron in the n-region attract them
(B) They move across the junction by the potential difference

(C) Hole concentration in p-region is more as compared to n-region
(D) All of the above

13. FHEd, e X THETE, T@% ¥ aR €46 sade &1 39 QANd Se § SfaR
SR JRpd GAShdl SR a1 9°€ g7 & 7§ B, Sl %AW (Eg)e, (Eg)si A (Eg)ae &

e 31 fr=foied § € B9-a1 yeed gy 2 7 1
(A)  (Egsi < (Eg)ae < (Eg)c (B) (Eg)c < (Eg)ae > (Eg)si
(©) (Eee > (Edsi > (Egoe (D) (Eg)e = (Eg)si = (Ee)oe

Carbon, silicon and germanium have four valence electrons each. These are
characterized by valence band and conduction bands separated by energy
band gap respectively equal to (Eg)c, (Eg)si and (Eg)ge. Which of the following
statement is true?

(A)  (Egsi < (Eg)e < (Eg)e (B)  (Egle < (Eg)ge > (Eg)si
(C)  (Eg)c > (Eg)si > (Eg)ce (D) (Egle = (Eg)si = (Eg)ce

14. R M IR 9 o R H Siewt 366 a9 n T & ad & 36 791 Je
B 1
(A) nR B) 2nR
(C) mR (D) n*R

The length of a metallic wire of R ohm resistance is stretched n times its initial
length. Its new resistance is :

(A) nR B) 2nR
(C) n2R (D) n*R
15. el = Fueal AeaHIet Bl AlCHIEX H§ WURRY R Sfe @ 1
(A) TR | I== gfelg 1 | (B) =R § g iy I 4
(C) &l § I= "fely & & (D) Uit § 9 gy T &
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(6) 5628/(Set : D)
Moving coil galvanometer is converted into voltmeter by :
(A) Connecting high resistance in parallel
(B) Connecting low resistance in parallel
(C) Connecting high resistance in series
(D) Connecting low resistance in series

16. e g9 1 gIHE & @ 1
(A) TH §aq 9% A © (B) ¥ad &€ JU RN &
(C) Iga-faga & S & (D) ST H PiE T
The magnetic field lines of a magnet form :
(A) Continuous curve (B) Continuous closed loops
(C) Like the electric dipole (D) None of the above

17. U% gl d TS Fad 1 §&0s § 1 99X @ geaT .1 d§X & [ ol Fusen §
IR fag are® a7 © ¢ 1
(A) 9 diee (B) 90 die
(C) .9 dre (D) .09 die

The magnetic flux linked with a coil is decreased from 1 Weber to .1 Weber in
1 second. The induced electromotive force in the coil is :

(A) 9 Volt (B) 90 Volt
(C) .9 Volt (D) .09 Volt

18. 2 FHuekrl H FE IO 0% b W MR 787 &ear @ ? 1
(A)  URARTH % S HqEAH W (B) HUSidi & = & g W
(C) Mg fespiemama WX (D) I IR W
On what factor does the coefficient of mutual inductance of two coils not
depend ?

(A) Filled with medium inside solenoid
(B) Separation between coils

(C) Their relative orientation

(D) Their resistances

A3 : (797 19 & 27) 3ygFT Fav & Rea &l 1 gid @i -

Direction : (Q. No. 19 to 27) Fill in the blanks with appropriate answer :
19. FE oo 7 U1 I 21T & e U & & fag W fova fa @@ B 1

An ...l surface is a surface with a constant value of potential at all
points on the surface.
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20.

21.

22.

23.

24.

25.

26.

27.

(7) 5628/(Set : D)

fora fagq oTwed & B9 O Saled Kl & Sed UE IR SRRy 2ir & e a9 &
............ &Hed B 1

The electrolyte through which current flows has a finite resistance, called
the ............... .

............. FEH & STJEN, U O GO SISl fogq €T @l f&em @l X Hebd Y a9
T SFYCRT & oo Bl R Ysw & & fww { B 1

According to ............... rule, your extended thumb pointing in the direction of
the current. Your fingers will curl around in the direction of the magnetic field.

T gHsoll § G B G (N) & o F ARG g areh o 1 TG S Febell Bl 1

The induced emf can be increased by .............. the number of turns (N) of a
closed coil.

TEH SRR FOT SO AT ArAEE & aAMt X 10° Hz R & AW Bl 31 Qb
g S I b T B AR 2l 1

A charged particle oscillates about its mean equilibrium position with a

frequency of 10° Hz. The frequency of the electromagnetic waves produced by
the oscillator is .............

............... % HRU qdiad g9 § Y4 AT ¢ adiah q9 6 U9E ga @6l

il BTl 1
Advance sunrise and delayed sunset is due to ............... .
B R T 2 EINC A LU LR M TR 1
Photons are not deflected by Electric and ............... fields.
TR & WHY & AR disd H, WA & Ho 4969 q° 366 AR EATH
UTAY] & 950 BIC § AT H Hhind Bl o B ... Fed ol 1

In Rutherford's nuclear model of the atom, the entire positive charge and most
of the mass of the atom are concentrated in the ............... .

ol n-9eR & R & oo IIEESH a2 1

In an n-type silicon ................ are minority carriers.

739 : (797 28 @ 35) =T 597 % I @F I=) T H g -

Direction : (Q. No. 28 to 35) Answer the following questions in one word/sentence :
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28.

29.

30.

31.

32.

33.

34.

35.
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el § SRRigHar W T4 & So B 1 J99 95l © 7 1
What is the effect on resistivity in metals, with increase in temperature ?
qRT O (j) SAfasr TRT 2 SFerAm ST R 1

Current density is scalar quantity or vector quantity.

el &M W geft & T 89 & Afoe] 9o a9 SEEK 9ok G & 9 WM W T
HIOT T {7 B 7 1

The horizontal and vertical components of the earth's magnetic field at a place
are equal. What is angle of dip at the place.

20 ¥ BHE-gU & IA9 a9 d 40 AN R THA B T ([SG-TH A @ 2| A
% gadl ofx wfdfsa el awm ? 1
A point source of light is placed at a distance of 40 cm from a convex lens of
focal length 20 cm. Where should image formed on the other side of lens.

S AR H YA Fael B WA (ne) TUT Bl B HEA (nn) e oI B 71
In intrinsic semiconductors, what is the ratio of the number of free electrons
(ne) to the number of holes (nu).

BRGSM WAY] & Sigl A # adg H Gedl FE B B r, o1 G wE a Bre
fepert B ? 1
The radius of the first electron-orbit in hydrogen atom of Bohr model is r,.
What will be the radius of the fourth orbit ?

e 3 fece 5@ #, Bl & AieE gd ek d AT & A | 3 AT Bal e
SIS & TGS Bl hd TG BN 7 1

In a single slit diffraction experiment, the width of the slit is made double the
original width. How does this affect the size of central diffraction band ?

T ol Tt 9 @ Hid (STUEcHid = 3/2) F SUakid B ol UK Jo SR TN
P TEREAT B SRRl EIHTQ°| 1
Monochromatic light is refracted from air into glass of refractive index 3/a.
What is the ratio of the wavelengths of the incident and the refracted waves ?
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